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Mgy =+ x(50+1)=12.75, ngpy, =2x(50+1) =255, Ny =3 x(50+1)=38.25

X, =34, X3 =35, X5 =43, X, =43, Xgg =56, X39 =56
Q
IQR=Q;-Q, =56-34.5=215
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X Y X2 y? XY
1 10 1 100 10
9 10 81 100 90
5 5 25 25 25
12 8 144 64 96
6 5 36 25 30
9 11 81 121 99
7 2 49 4 14
15 11 225 121 165
7 6 49 36 42
12 7 144 49 84
83 75 835 645 655

n=10, IX =83, XY =75 IX2=835 XY?=645 XY =655
SZ_ZXZ—(EX)Z/n , _IY?—(Y)'/n o EXY-(2X)(ZY)/n

X n-1 ' n-1 LY n-1
Sx
rooSx
T sy
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X =8.3, s, =+/16.23=4.03
lzﬂ:—lsa, Plzl—%:o.sg
4.03 (-1.56)
K, _15-83_1 66, P,=1- L ~=0.64
4.03 1.66
P(2< X <15)=%(0.59+0.64) = 0.615
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X L= X —3s, =8.3—3x/16.23 =-3.79
X L= X +3s, =8.3+3x+/16.23 =20.39
Y M iEL=Y —3s, =7.5-3x+/9.17 =—1.58
Y FEL=Y +3s, =7.5+3x+/9.17 =16.58
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Mgy =+ x(50+1)=12.75, ngpy, =2x(50+1) =255, Ny =3 x(50+1)=38.25
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X Y X2 y? XY
4 6 16 36 24
9 8 81 64 72
10 4 100 16 40
5 6 25 36 30
11 4 121 16 44
9 6 81 36 54
8 4 64 16 32
5 11 25 121 55
2 5 4 25 10
3 11 9 121 33
66 65 526 487 394

n=10, IX =66, XY =65 XX2=526, XY?=487, XY =39%
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k=280 145 po1-— 1 ~=053
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k=123 265 P11 ~=0.86
3.17 2.65
P(2<X <15)=4%(0.53+0.86) =0.695
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X El=X -3s, =6.6-2x3.17=0.26
X Fl=X +3s, =6.6+2x3.17=12.94
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